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Decision/action requested

Discuss the consistency of rule definition and corresponding samples in TS 32.122
2
References

TR 30.818
Telecommunication management; Project scheduling and open issues for SA5, Release 8 




Work Item Description:
Advanced Alarming on Itf-N  UID 35053

TS 32.122 V1.0.0 Advanced Alarm Management Information Service
3
Rationale

In TS32.122 V100, it gives the definition and the samples of Threshold Rule, Transient Rule and Toggle Rule respectively. But as to each rule, the definition and the samples are not consistent. So it needs some discussion. Take the Threshold rule for example.
4
Detailed proposal

In the TS32.122 V100, the definition of Threshold rule is described as “The start trigger for this time window is the occurrence of the first alarm matching the filter (alarmType, perceivedSeverity, probableCause, specificProblems - if present - , managed object instance). The trigger for incrementing the threshold count is the raise of an alarm matching the filter. 
When a new alarm matches the filter and its time is smaller than the upper edge of the time window, then the count is incremented. When the count exceeds the threshold, then the lower edge of the window is set at the time of the new alarm – the window size remaining constant - and the count is reset to zero. 
When the time reaches the upper edge of the time window, then the lower edge is set to the time of the second alarm in the window and the count is decremented. If there is no second alarm in the window, then the count is set to zero and the window is not existing any more, i.e. the next alarm matching the filter is considered as a first alarm as above.”

But the corresponding samples of threshold rule are described in A.2.1.3 and A.2.1.5 (see below). Its definition still follows the defection before SA5 #53 meeting described as “The start trigger for this time window is the raise of the first alarm matching the filter. The trigger for incrementing the threshold count is the raise of an alarm matching the filter. When a new alike alarm matches the filter, then the upper edge of the window is set at the time of the new alarm position. The window length remains constant. In every new sliding window position, the threshold count’s value is the number of alarms that appear in the current sliding time window. The threshold count is reset if the lower edge of the time window is reached or if the threshold count crossed the threshold.”  

So it needs some discussion to keep them consistent.

A.2.1.3
Treatment of "alike alarm"
Test an "alike alarm".  See if there are N-1 "alike alarms" between its alarmRaisedTime and T units of time earlier.  

If yes, the subject is a significant alarm; otherwise, it is an insignificant alarm.  

A.2.1.5
Samples


[image: image1]
FigureA.2.1.5-1: Threshold Rule illustrations – insignificant alarm

[image: image2]
FigureA.2.1.5-2: Threshold Rule illustrations – insignificant alarm
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